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Question Number : 1 Question Id : 630680149126 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who among the following has become the new Chief Secretary of Andhra Pradesh, whose tenure

will be up to 30 June 2024?

808 &BS®, HIDsewo 30 &2 2024 HBH Godder B0FNAT T°R9 TS D S0 XD ereigesen
Bidereo?
Options :

1. % Jawahar Reddy

26 3é%

2. #* Poonam Malakondaiah

0 Sre8octoy

3. # Sameer Sharma

308 3

4. % Krishna Murali

5 50059

Question Number : 2 Question Id : 630680149127 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1

In November 2022, MUFG Bank, a bank in , signed an MoU to promote investments in

Andhra Pradesh.

55026 20228°, £ 308 2508 @0 MUFG 2rgo§, e0gRRFS° 2epncios sPe)srosms sE

NP 2500 Koo I008.

Options :

1. * Indonesia

oINS

2. ¥ Japan

2B

3. % China

QR°

4. % Finland

Sdro&
™

Question Number : 3 Question Id : 630680149128 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

How many cities from Andhra Pradesh were awarded with the ‘Water Plus’ certification under the

Swachh Bharat Mission and Swachh Survekshan, 2021?

359 258 A 52805 SN K338es, 2021 8ois es0i8HRF @%}joé’s&’) Q) Sefored ‘b HR’ HPDIAS
@ Sromron?
Options:

1. ®= Two



80

2. * Five

Eolny)

3. % Three

ANVt

4. * Four

Question Number : 4 Question Id : 630680149129 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The Andhra Pradesh Government launched an education scheme in the year 2020 for the students
in government schools, under which school kits were distributed to those students. Name the

scheme.

2020 K505e)80S°, HAHESY PTG QEgHe §°K0 e30iRRF A0 2.8 JTgy HESR) oo, & Soll e
Aerghesd Kb §des H0DES T, €8 HEEo K BenHosd.

Options :

1. # YSR Cheyuta

BDesb Sotres

2. % Nadu-Nedu

TPCE-CED

3. ¥ Jaganna Vidya Kanuka

BISS) AT 5o S

4. * Amma Vodi



NV Nal

Question Number : 5 Question Id : 630680149130 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

With which of the following freedom fighters was the Kotappakonda case that took place in

Andhra Pradesh during 1909 related?

19098° 8oFHRATS® 200 §°0)5 0cé 5K §od Koy KeHEATEHOS® 5508 K02300ISR?

Options :

1. % Alluri Sitarama Raju

0 EPTDTo?

2. ¥ Chinnapa Reddy

) 3%

3. #* Uyyalawada Narasimha Reddy

COSTPIeT SBR0sP 6%

4. # Gottipati Brahmaiah

ﬁ°¢c§cﬁ°e3 L3700

Question Number : 6 Question Id : 630680149131 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The conduct of all the elections to the municipalities shall be vested in the State Election

Commission referred to in Article }

SRARVZFIES o AAEO AELETE T DO AN @:5)1052260eH008 e ©Q¥Bea0S”®



ISUSICIR AT INAR

Options :

1. % 241-K

241-K

2. % 242K

242-K

3. ¥ 243-K

243-K

4. ® 245K

245-K

Question Number : 7 Question Id : 630680149132 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who administers the oath of office to the Chief Justice of the High Court in a state?

28 0°%0908° 35 DS ArgoHSTrEE’ Xth KT RS Yo Bowardh?
Options:

1. % Governor of the state

R (15965

2. ¥ Chief Minister of the state

TR Sngpgesoo

3. ¥ President of India

O RIS

4. ¥ Chief Justice of India



AT NN L OVOINS v 3]

Question Number : 8 Question Id : 630680149133 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Which of the following cities is proposed to be the executive capital of Andhra Pradesh from April

20237

ARG 2023 06 BoFRHAT SEINTERE ORGP §08 & SHTPR)) SBFBomh?

Options :

1. * Amaravati

BNV NIE)

2. % Kurnool

S8y

3. ¥ Visakhapatnam

F°PNEN0

4. % Vijayawada

Q20D

Question Number : 9 Question Id : 630680149134 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which is another name for Arma Konda, the tallest mountain in Andhra Pradesh?

B0FRATS A B Fotk ©andE i) Foksh e SHE™S % deel?

Options :



1. ¥ Galikonda

QRIeTerS

2. ¥ Sitamma Konda

ey Focs

3. ¥ Kappa Konda

£y Focs

4. ¥ Devadu Konda

A Fodé

Question Number : 10 Question Id : 630680149135 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Diamond is NOT found in which of the following districts in Andhra Pradesh?

20FHRTS R §08 O VLS @0k EOTSEH?

Options:

1. # Krishna

Sy

£

2. ¥ Kurnool

§Cﬁs°&e>o

3. # Anantapur

SoBJ)Bo

4. % Prakasam



Do
o/

Question Number : 11 Question Id : 630680149136 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

In which state does the river Krishna originate?

Har S8 & T°RI0S” GYRNPoR?
Options:

1. * Telangana

I01Ped

2. # Karnataka

§g°eo§

3. ¥ Madhya Pradesh

50585F

4. % Maharashtra

6330“35@@3

Question Number : 12 Question Id : 630680149137 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

‘Brahmam Okate' is the composition of which noted poet and musician?

'S RNELE" ORQ @ D308 ¥ 03 Ko KHYBED)S?

Options :

1. # Shyama Sastri



T30 TR

2. % Purandaradasa

S0

3. ¥ Annamacharya

LINNNGE o]y

4. # Tyagaraja

ergiiorer

Question Number : 13 Question Id : 630680149138 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which person from Kakinada authored the book ‘Folk Music of Andhra Pradesh?

808 70S° 8L FoAS & 55§ 5 Surgeed e9d ey HAT WRSR Gulowhd?

Options :

1. ® Dr. Damodara Ganapathi Rao

50, RS (8@ o)

2. ¥ Vinjamuri Seetha Devi

o238 e Fo)

3. ¥ Ghantasala

Do

4. # Vinjamuri Anasuya

2023033728 @9 55°0%H



Question Number : 14 Question Id : 630680149139 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

What was the full name of Annamacharya?

©STIES °G DD dadeS?
Options :

1. ¥ Cuddapah Annamacharya

79 ea;é&érat’cﬁg

2. ¥ Tallapaka Annamacharya

@%’@5 (NNl

3. * Palkonda Annamacharya

FSY0ls ST

4. # Pulivendula Annamacharya

O[S ITAVSRINIIN v o)y

Question Number : 15 Question Id : 630680149140 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Young girls arrange their dolls in a beautiful way as part of Sankranti. What is the name for this?

K057 HocS® grtforr D) @SToNen 8 RO @olor w8 EBS® WP, T DN DEVFLH?

Options :

1. % Bommala Koluvu

e o))

2. % Kodi Pandem



8°& HoRo

3. ¥ Patangala Poteelu

SeBothHe &%eden

4. ¥ Bhogi Pallu

Question Number : 16 Question Id : 630680149141 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which village, about 60 kms from Vijayawada, is said to be the birthplace of a famous dance form

of Andhra Pradesh?

QesoHares Sr0d 60 SS° DY roS® e O TPao BoFHATE R HIE ey ErsAS s peo

5530320633@5306?

Options :

1. * Bommalaata

CARNSIOLY

2. % Kalamkari

E&osd

3. ¢ Kuchipudi

SPOTE

4. # Bharatnatyam

PS50



Question Number : 17 Question Id : 630680149142 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The colours for kalamkari were traditionally obtained from

Eoos°8 othen Arogimrahorr 5008 A& 0csean.

Options :

1. # synthetic dyes

05e38 Bothen

2. ¥ vegetable dyes

ERETPON® Soltdden

3. * powdered stones

@%é o)

4. * skins of animals

2o STY

Question Number : 18 Question Id : 630680149143 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The folk dance ‘Butta Bommalu'’ is performed during festivals. Which is the main part of the

costumes?

'208) TN’ B 2D Y50 otk HH0HeS” 50 0sehol. &PtS KoroBods hied® §od eS®
o) PGPS P CosroN?
Options :

1. # Baskets made of mango tree wood strips



ST DED B zacg@@s DR 20QED

2. ¥ Baskets made of bamboo strips

3 zac)ée;e%s B 20geD

3. # Baskets made of neem tree wood strips

3% 3ep 3K zofgenéﬂ S 2004e)

4. # Baskets made of beech tree wood strips

DE D 3 oS’ IS wogen

Question Number : 19 Question Id : 630680149144 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which silk sarees were woven especially for royalty, in the Nellore district of Andhra Pradesh

0FHATS') Jerh BerS® TraSHEoRHe 50 DK & HEL WL SFE?

Options :

1. ¥ Uppada

Coal)Ch

2. ¥ Dharmavaram

$5HB0

3. ¥ Mangalagiri

otIFAd

4. ¥ Venkatagiri

3088



Question Number : 20 Question Id : 630680149145 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who among the following cricketers have been named among five players in Wisden's 'Cricketers

of the year’ in the 2022 edition of the Wisden Almanack?

Q0 s 2022 JGRARS® AR '§508) 88 & BaHE'S R 0iithdh emrgS® 808 §3RYS® X5 cor)H?

Options :

1. # Rohit Sharma and Virat Kohli

B $5) 0800 I 8o

2. ¥ Jasprit Bumrah and Rohit Sharma

2)9¢5 200553 0O Fered F)

3. % KL Rahul and Rishabh Pant

3 TreS s0BAH SRR Hoed

4. # Suryakumar Yadav and R Ashwin

RorE50s5r0 O 00k 38 PN

Question Number : 21 Question Id : 630680149146 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The fifth Khelo India Youth Games 2022 will be held in which of the following states?

068 HS® 2okl abrred Gay 2022 $od O TPRIS® BSHRSR?

Options :

1. % Kerala



s8¢

2. % Andhra Pradesh

e%ogéa'a’;_

3. ¥ Madhya Pradesh

4. ¥ New Delhi

K5

Question Number : 22 Question Id : 630680149147 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who among the following became the first woman president of the Indian Olympic Association

(IOA) in December 2022?

808 0S°, GRonb 20228° g8 2:9008 Koo (I0A)S XM R03e5e3 sHarer eEsHTOOTEH?

Options:

1. ¥ PV Sindhu

) O

2. % PT Usha

D3 &R

3. ¥ Saina Nehwal

R RS

4. ¥ Jwala Gutta

eRger (e



Question Number : 23 Question Id : 630680149148 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following states hosted the Track Asia Cup 2022 Cycling Tournament which is one of
the biggest cycling events and will be held at LNCPE Outdoor Velodrome in November 20227

5506 20226° LNCPE e0SE6 S6°E58° Adgarossnds e®ne pioh Si3ofed® 2885 & edatr £5
2022 2§oh )00t §obd & Togo eBEIN0E?

Options :

1. #* Gujarat

(He3oeed

2. * Chhattisgarh

SBRHE

3. # Karnataka

§g°eo§

4. + Kerala

38¢

Question Number : 24 Question Id : 630680149149 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Which of the following campaigns launched in August 2022 focuses on the cognitive development

of children in the first two years of its life?

808 BS° estip 20228° PrBoRosadd & Hirdo, LY 0 Socdh KHoNBYT°e BIWoS R g JSPKOR

Cﬁaggéo@§5@o&?



Options :

1. # POSHAN Abhiyaan

8.5 DT

2. # 100-day Aashwasan Campaign

100 822 e33R ghardo

3. % Paalan 1000

e 1000

4. # SAKSHAM' campaign

'SAKSHAM' &80

Question Number : 25 Question Id : 630680149150 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who among the following is a union law secretary to be appointed as a judge of a high court for

the first time in India?

808 0", PrEBRFS® RSB0 EL Tg0HRTIM AOHNNGS 0HrAaHd & DFLO(Sogs TPgohwre
Syel(aten) INITevYs

Options :

1. ¢ Anoop Kumar Mendiratta

©ITH HITE HoobSy

2. # Sanjeev Sachdeva

KoBE KABD

3. ¥ Mukta Gupta



SNS° (PP

4. # Rajiv Shakdher

o°BD ¥36
P

Question Number : 26 Question Id : 630680149151 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The first chairman of the Asian Palm Qil Alliance during the first general body meeting was elected

from which of the following countries?

006363 BSES @t ol DTS HXTSF0)S® NAADS D SRS @OAHY 0L INEE PV §od
B0 006 DSHaIE?

Options :

1. # India

OB o

2. % Pakistan

FEFS

3. ¥ Nepal

SrS

4. # Bangladesh

OPRT

Question Number : 27 Question Id : 630680149152 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Panini wrote the master book of grammar in Sanskrit which set the linguistic standards for



Classical Sanskrit named:

R0 9@oS® ‘TPe3’ TS &gEUes (oo APoRROH KodyyerdS grPal HEFEred AGFowod. & Holo !

Options :

1. # Gaha Saptashati

(e K5v®

2. * Abhishekanatakam

@D aETOE0

3. # Praitimanatakam

$BSTeEo

4. ¢ Ashtadhyayi

Question Number : 28 Question Id : 630680149153 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

The Rowlatt Act was passed by the British government in to increase their grip on power over

the common folk and which gave them the power to arrest any person without any trial.

BN ézs"ff)s’oz.g ©RSCoR D8P Do DR Hadefto Feed S¢rd) ° e33R0 0B $HBTHN B

Aero Jirdes SRR N0 W3R ARV BHSTTR) 508 EDyowod.

Options :

1. #1916

1916

2. %1917

1917



3. % 1918

1918

4.4 1919

1919

Question Number : 29 Question Id : 630680149154 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

was a free thinker and a rationalist who promoted radical ideas and encouraged his
pupils to question all authority and started the movement referred to as the Young Bengal

Movement.

28 ?O‘SQ'D S SIHEE SO 28 TPHHTRT @ S SISO L1370, WHSHOEB PR &S
QTFEOD B YoroedsS $HBAHD 0$Hofi Borrd csisseidon Kordotsards cissesa)) rdoRonds 5§ )

Options :

1. * Nawab Abdul Latif

S e o&5H

2. ¥ Henry Louis Vivian Derozio

30 OTONR AN RS RGP

3. % Mirza Ghulam Ahmed

Te tHero @i

4. % Gopal Hari Deshmukh

ForS &8 AFssngd

Question Number : 30 Question Id : 630680149155 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following statement is/are true about Brahmo Samaj set up by Raja Ram Mohan Roy

in 18287

A. It forbade idol-worship

B. It forbade its members from attacking any religion
C. It believed in the basic unity of all the religions

1828® oreze oo ST T° o R0 @57y desreo (K80 §o& DEOSOS® DB/ Jefs0?

A. 38 QYT Dok

B. Q) {20520 O NBoRT® TG BOHKT B daaGowod

C. 30 P08 GFPEalE 0E5S ¥ R0uod.

Options :

1. % Only A

A g5

2. % Both Aand B

A 3805 B Sodér

3. % Both Band C

B o805 C Soddae

4.+ A, BandC



A, B 08as» C

Question Number : 31 Question Id : 630680149156 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Which of the following statement is/are NOT true about the Vernacular Press Act of 1878?

A. The Vernacular Press Act was passed in 1878 by Lord Northbrook.

B. The Vernacular Press Act was also enacted in an effort to silence those who were critical of the

government.

C. The Act allowed the government to confiscate the assets of newspapers including their printing

presses if the newspapers published anything that was found objectionable.

1878 Ro2)%506 2R S¢o tHB0 §08 HELSOS® AB/N 5o S°¢D?

A. 3o7)E506 R o &b oG 238 I edrdosudod.

G

B. 3075506 2R S¢o H80eriR) a0l a0 S srrowowd HOHe)oS® K Sorr wahwdod.

C. TTHBE wjodsEsomr HG HhlodSgond, o Hotdoh IS’ K FTRHBT wpod 1Y)
BOHRS 88 o HAHEIR) @D 0oR.

Options :

1.4 Only A

A g5

2. % Both Aand B

A 38050 B Sodér



3. # Both Band C

B o805 C Sodéae

4, % A BandC

A, B &08as» C

Question Number : 32 Question Id : 630680149157 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The Union List, State List and the Concurrent List is included in which Schedule of the Indian

Constitution?

P TergotioS’R & WETISS” Sof DT, TP R sHOOH G wrder JYywmron?
Options :

1. * Eighth Schedule

ANED WesPsS

2. ¥ Seventh Schedule

DS ErsS

3. # Tenth Schedule

HE85 krsS

4. % Twelfth Schedule

D)0 WTsS

Question Number : 33 Question Id : 630680149158 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1



The 73rd Amendment Act, 1992 of the Constitution was responsible for adding a new part IX

consisting of 16 Articles and the Schedule to the Constitution.

orergoifo §°Q) 738 K$:58es S¢o 1992, TrersorrdS 16 eofEsemen sH0ako 2G5S’ S0 8¢ getio IX

Q FEoSTAS 2P Harrol.

Options:

1. # Fifth

80853

2. % Sixth

[ZToPN)

3. * Eighth

INPPONTANN)

4. + Eleventh

TatSyeT )

Question Number : 34 Question Id : 630680149159 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

When a President is to be impeached for violation of the Constitution, the charge shall be

preferred by .

TP2Pg0TPa)) 6Q0a00u0cH% mg}jé@ @2 FoRNIE (HJFSYND, e38°55¢e9 ROHRSR.

Options :

1. # Chief Justice of India

NSRRI AN OV NGO

2. % Either House of Parliament



FEF00en &IODH DFOS® HAA

3. ¥ Prime Minister

ST 500

4. % Supreme Court of India

PSS DT T5oHISo

Question Number : 35 Question Id : 630680149160 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

is a traditional folk dance of Nagaland during the Naknyulim festival in the month of

July. This dance is performed in praise of the birthplace of mankind and therefore the earth.

g doS® $¥seo (Naknyulim) Hocéis RolBorr HEB o TPPErote APORTOD 2P yeso . &
s SrSTP B38)Per) HOADH &P 83 Hes0 0SB,

Options :

1. # Chang Lo Dance

wof &° 5@@3550

2. # Monyu Asho Dance

Sy 5P Syeso

3. ¢ Changsang Dance

ohrod SHBso

4. # Angushu Kighilhe Dance

@oH §§w§ SySse



Question Number : 36 Question Id : 630680149161 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

is a folk ballad form performed predominantly in Chhattisgarh. It depicts the story of

the Pandavas, the leading characters in the epic Mahabharata.

$B/HES® SeSorr 500t 2SR gh( DETE) BedEo . 38 NP 9T HFS
@“@@6 FPoCEeY® EEHD ég‘@o@.

Options :

1. % Raut Nacha

&b oo

2. % Panthi dance

Ho SySse

3. # Sua Nacha

&® TP

4. ¥ Pandwani Dance

FoTTR) Syeigo

Question Number : 37 Question Id : 630680149162 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

is a Maharashtra and Goan folk dance performed by the women in the Konkan region

during Hindu religious festivals like Ganesh Chaturthi and Vrata.

(SR SehQ S0aH S H08 Sl HSDEHS Hockie DSBS Foes FoBos™D Hirven $E0)03
SEFT9 00 (&L FoAS 2SS Gyess0 :

Options :



1. % Fugdi

2

2. % Cherav

el

3. % Karma Naanch

55) Srow

4. * Chauu

T

Question Number : 38 Question Id : 630680149163 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Buland Darwaza or the loft gateway was built by whom among the following great Mughal

emperors in 1601 A.D. at Fatehpur Sikri?

HBIE JFS® woewod Ko Sue DFerod DosrEryte)) 1601 A.D.S° $od (e 305S SEXHOS® 258
B)oeedd?

Options :

1. % Babur

we20b

2. ¥ Akbar

eaéz)é

3. ¥ Jahangir

esrofib



4. * Shah Jahan

L2EF

Question Number : 39 Question Id : 630680149164 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

The Gol Gumbaz is the second largest dome in the world, second in size only to St. Peter's Basilica,

Rome. Where is Gol Gumbaz situated?

(S 028 @588 HdosoS® Sodssd &g hesyto SO $05re90S5° Bl B0 S°R Dawod &by w1

&Y 30D, ('S thoae ¥ SOE Gold?

Options :

1. % Karnataka

§g°ea§

2. % New Delhi

e

3. * Rajasthan

o°za§°5

4. *# Andhra Pradesh

@o@é&g

Question Number : 40 Question Id : 630680149165 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Rani-ki-Vav (The Queen'’s Stepwell) is an outstanding example of a subterranean stepwell

construction and represents a prime example of an architectural type of water resource and



storage system of the Indian subcontinent was inscribed as a UNESCO heritage site in 2014.

Where is this located?

z§3°ﬁ€52:) SUHANENoLINERS AU N aps el lo INITBINENsTovw Vo104 &0 A HSHED 00N NS
26526{5: XB0E) AT FSPIE NEPsd GTrsrdeat™ AW ored-8-rQ (oredred SUSEANN)) 2014° O0RR), OIS

SAFr ODosNGoR. BB HEYE SOER Gold?
Options:

1. % Kerala

38¢

2. ® Rajasthan

OB
@

3. ¥ Gujarat

Hesored

4. #* Jharkhand

wrSok
P

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Is Section Default? : null

Question Number : 41 Question Id : 630680148178 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate meaning of the given idiom.



Save the best for last

Options:

1. % Reserve something pleasant for the final moment
2. ¥ Save money for difficult times

3. #* Choose one’s friends very carefully

4. # Enjoy the largest portion of dessert

Question Number : 42 Question Id : 63068069825 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate idiomatic expression for the underlined word.

As a performer, he is too old to be of much value. He just can’t dance or sing as he could a few

years ago.

Options :

1. % past his patience

2. ¥ past his patent

3. * past his previous strength

4. % past his prime

Question Number : 43 Question Id : 630680113241 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the correct spelling for the misspelt word in the given sentence.

We should not loose faith during difficult times.
Options :
1. % loss
2. ¥ lose
3. # loos

4. * |ouse



Question Number : 44 Question Id : 630680113244 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the correct spelling for the misspelt word in the given sentence.

Influencial people should be very careful of what they do.
Options :

1. # Influentiall

2. * Inflluential

3. ¥ Influential

4. * Influenttial

Question Number : 45 Question Id : 63068069094 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate ANTONYM of the given word.

Productive
Options :

1. # Prolific
2. #* Fruitful
3. * Creative

4. « Ineffectual

Question Number : 46 Question Id : 630680112333 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate word that is OPPOSITE in meaning to the word in the bracket, to fill in
the blank.

He was being about his unconventional ways of working. (reserved)

Options :



1. # secretive
2. ¥ manipulative
3. % candid

4, # reticent

Question Number : 47 Question Id : 630680126864 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate synonym to fill in the blank.

I waited too long, now my is wearing out.(tolerance)
Options :

1. # fatigue

2. % peace

3. ¥ patience

4. % calmness

Question Number : 48 Question Id : 630680126952 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate synonym of the word given in brackets to fill in the blank.

Traditional people are working to maintain the community's cultural ____ (virtue).
Options :

1. # calamity

2. ¥ integrity

3. ¥ momentum

4. % power

Question Number : 49 Question Id : 630680115435 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the option that can be used as a one-word substitute for the given group of words.

A person who thinks that bad things are more likely to happen
Options :

1. % Narcissist

2. * Enthusiast

3. % Optimist

4. + Pessimist

Question Number : 50 Question Id : 630680148218 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the option that can be used as a one-word substitute for the given group of words.

One who is in charge of a museum or art gallery
Options :

1. * Patent

2. % Conoisseur

3. ¥ Curator

4, # Patron

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Is Section Default? : null

Question Number : 51 Question Id : 630680148369 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1

Five persons Bina, Deepa, Ina, Mukti and Reena are sitting in a straight line facing north. Mukti is
to the immediate left of Deepa. Ina is third to the left of Reena. Bina is to the immediate right of

Reena. Who is sitting to the immediate right of Ina?

D, BN, 0/°, 30§ $HB0 B @ 0N JgHEN 2.8 DELTPS® GLT SN ST, HHK SEeach
DESHFYS 50§ EEND 9o, BT AEHBYS SPEHFES’ 2rP EPEY 08, B Sgead HEZYS
D BN DoB. DL BEEID NGRS D ErE)T?

Options :

1. * Deepa

2. # Reena

S

3. ¥ Mukti

508

4, # Bina

D

Question Number : 52 Question Id : 630680148370 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Six friends K, L, M, N, P and R are sitting around a circular table facing the centre but not
necessarily in the same order. Only L is sitting between M and N. Only Kiis sitting between N and

R. M is to the immediate right of P. Who is sitting to the immediate right of R?

esiheh Dyareden K, L, M, N, P 58050 Ren 208 thoghel 3end <& Somralssngione Erty)amysd, SR P

D)) 8 E300S° Er8YTAYS @500 e, M 08050 N &0¢85 L sSegfeds EE7)R) camyeid. N daskn Re



35655 K sSr@ad E87)0) esmm)id. P8 &8595dd HGSIS M EE7)R) csam)céd. RS 55950 HGSDS oI
Er8y)E?
Options :

1.¢¥P

Question Number : 53 Question Id : 630680148371 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

In a class of 52 students, Latika scores less marks than 14 students only. Arpia scores more marks
than 16 students only. How many students score more marks than Arpia but less marks than

Latika?

52 508 Jrrghen e w8 SEHBS®, o8 14 908 JmrythHe Kot SrY ¢ ST Fodod. @dydkr 16
5208 DeP§HO Foe3 SrH HE)D SN FPoBod. NS0 JTFEHLS WO Fot3 NE)H HBAN o8 Kok
FEYR SPEYOD BPoTrtd?

Options :

1. % 18

18

2.¥ 20



20

3. % 22

22

4. % 24

24

Question Number : 54 Question Id : 630680148372 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Each of P, Q,R,S, T, U and V has an exam on a different day of a week, starting from Monday and
ending on Sunday of the same week. P's exam is just before R's. V's exam is just after T's. U's exam
is on Monday. Q’'s exam is on Friday. V's exam is on Sunday. R's exam is just before S's. Whose

exam is on Wednesday?

P,Q R, S, T, U805 Voo & 8, RPartod® Jrdoiad 8lardos® i ws ardod®™ 858 &ared®,
D0ZOH BT, P B3 D05 R G3og) D055 5eads ok &% csoenod. V G3ng) H08 T Gng) H85%
BZeacdd T &2 cootnod. U G H8Y Rfshardo 8 cotnol. Q Gng), 508 HEardo & Gotnod. V
GBoo¥), HOF @Yo B Gotnod. R Ging) H8Y S cing) HOEH HEeacdy w0t &2 cotnod. wiardo &erd
DB HOE coonod?

Options :

1. R

4. % S



Question Number : 55 Question Id : 630680148373 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the statements.

Statements:

All bottles are cups.

Some bottles are plates.

Conclusions:

I. Some cups are plates.

I1. Some cups are bottles.

BN DRV 3000 DTZHRIPTOD 2HST 5506, D) DRBTed FGrdeo SO TRV Lo
EINNE @fi)fbo&réégeﬁé PR RN HOiedotots. écl’gc‘é@bmer‘()&o&ﬁ AT EPSININS L OINVISTAL NN

DERPTOS® O 0o R0l APonoiod.

PSRVINTS LW

23R e

ER) ere3) 26



ANV

L §7Q) E)e0 4.

II. £ Sy weS’%e).

Options :

1. # Only conclusion I follows

RISIONIS NIl NV INVERDIN s Fovteta

2. # Only conclusion II follows

58590 1T $Sredady e9rdd8:pod

3. ¥ Both conclusions I and II follow

DGR I 65808 1T Sodés 90700

4. % Neither conclusion I nor II follows

D8I I So I 8 @805

Question Number : 56 Question Id : 630680148374 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the statements.

Statements:

All parks are houses.



No house is a garden.

Conclusions:

I. Some parks are gardens.

I1. No park is a garden.

BN DRI $H000 DTFHRPTOD 2PHST 5506, D)) DRBTed ErIeso SOV PRI L o
G5e3)80 ©NVSNYBE TR R0 HOeSocSod. HTRRTT OB S5, HHSTO 8306k BN

DEHPTOS” IO erO)Eomr 0ol dganosod.

éeéé&s"en:

@) tysFen.

D o Erw &% 5o

ETSINEVRV W

L §°Q) ardyen Seen

IL. & &), e S8 5250

Options :

1. # Only conclusion I follows

RISIONIS NIl NV INVERDIN s Fovteta

2. % Only conclusion II follows

58590 1T $Sre¥ady e9rHd8pod

3. ¥ Both conclusions I and II follow



DR [ 658050 1T Sodés e900r0m

4. % Neither conclusion I nor II follows

D8I I So 1T 8 @805

Question Number : 57 Question Id : 630680148375 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Study the given diagram carefully and answer the question that follows. The numbers in different
sections indicate the number of persons.

Coaches = A ¢ Musicians
(A
<::IGirls

How many musicians are girls but are NOT coaches?

GV DI D) FIGT 203000) D) J06S5 AN ) D VAP0 G

DD DPTPG"D DoDYRD DR W0 PO,

erBsen oy, ESen 59 m}@h&h@ Jotdeoh?

Options :

1. # 67

67



2. % 45

45

3. 89

89

4. % 78

78

Question Number : 58 Question Id : 630680148376 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Among six boys P, Q, R, S, T and U; T scores less marks than S only. P scores more marks than U. Q
scores less marks than U. R scores more marks than only three other persons. Who scores the

least marks?

P,Q,R,S, T 00k U ed esthhth exmyoned’; S o Srgieds T s &Srdyecd sromrcdd. U 8ol P o8
PSR &Pomredd.U Sol Q ) St SPomrd. 33 SnHd J5EHe Koe3 SrYR R A8 Srdyed
Do, @08 Soe S ST BRoBS H] AH5?

Options :

1.%5S



Question Number : 59 Question Id : 630680148377 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Select the alphanumeric-cluster from among the given options that can replace the question mark

(?) in the following series.

HMB-3, KPE-6, NSH-10, QVK-15, TYN-21, ?

Be)S 050 0k §obd TSR JFEs) (?) 458 Johiie eemySryeids B doth ok

HMB-3, KPE-6, NSH-10, QVK-15, TYN-21, ?
Options :

1, % XBQ-28

XBQ-28

2. * WBR-27

WBR-27

3. * WCQ-30

WCQ-30

4.+ WBQ-28

WBQ-28

Question Number : 60 Question Id : 630680148378 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the combination of letters that when sequentially placed in the blanks of the given series



will complete the series.

G_C_R_FCN_GF__R

B)S @58 TSR ard0S® HERM oSN TN S IO WET® FVONED oS 0d.

G_C_R_FCN_GF__R
Options :

1.¥FNGRCN

FNGRCN

2.* FNGFCN

FNGFCN

3.* GNFRCN

GNFRCN

4. * FNGRNC

FNGRNC

Question Number : 61 Question Id : 630680148379 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

How many such pairs of letters are there in the word PSORIASIS which have as many letters
between them as in the English alphabetical series? (Count both in the forward and backward

directions)

‘PSORIASIS’ @ 5808°, 03R BokEore sy Gode e@itre Koadg @olf @ESSre ¥5008° @l Sotkgore e
G506 ET°® K05 HDTSBICNIT® AR WET°O BN G0N ? (s5000Ed $5H0AH SELH BIYHer

F8)0cS0cs)



Options :

1. # One

2863

2. % Two

8ol

3. #* Three

NV

4, = Four

Question Number : 62 Question Id : 630680148380 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Refer to the given number, letter series and answer the question that follows.

(Lefty GGH4A3EF32WC5N7M68PL3AZ5SY4RT8E9ALOI(Right)

If all the vowels in the above string are deleted, then which would be the 5th letter/number from

the right end in the remaining string?

BYS Ko, ©EY T3 HBPD0 §odd HHH NSTGrSo BH0k.

(NG BY) G6HA4A3EF32WC5N7M68PL3AZ5SY4RT8EIALI (HDGIN)

2 FBS° ©OANBR FON0IIT, WADS FBS® H& XY Dok 5% wEBo/Sogdg NO?

&/

Options :



Question Number : 63 Question Id : 630680148381 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

In a certain code language, ‘NICER' is written as ‘RECIN’, and ‘CAUSE' is written as ‘ESUAC'’. How will
‘WRONG' be written in that language?

Q8% 8°& g d’, ‘NICER'Q ‘RECIN' @0 0800 ‘CAUSE'Q ‘ESUAC @90 sr5es, €8 i S® ‘WRONG' oder

@

FE?
Options:

1. # GNROW

GNROW

2. ¥ GNORW

GNORW

3. * GONWR

GONWR

4. * NOWGR



NOWGR

Question Number : 64 Question Id : 630680148382 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

In a certain code language, ‘FRONT' is written as ‘618151420". How will ‘PUNCH’ be written in that

language?

QBR & A S®, 'FRONT'R '618151420" @9 s, @8 grde® PUNCH'Q der spardo?

Options :

1. % 16201338

16201338

2. % 15221438

15221438

3. % 16211539

16211539

4.4 16211438

16211438

Question Number : 65 Question Id : 630680148383 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

A man is standing in a park facing the east direction. Then he turns 45 degrees clockwise. After

that he turns 90 degrees clockwise. In which direction is he facing now?

2.8 K58 28 PES° S @DSNPOT AL GITR)E. @I BB DISRFS® 45 Gies Biberd. e
FTR @S 90 Gilen RSgATS® BLHerw. @SB B o OFE @DINP Coi=)6d?



Options :

1. ¥ North-east

&aF°Sg0

2. % North-west

@oﬁwégo

3. # South-east

@33&05)0

4. ¥ South-west

35S

Question Number : 66 Question Id : 630680148384 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Mohini walks 70 m towards the east direction from her home, and then she turns left and walks 40
m. After that, she turns left and walks 70 m. At what distance and in which direction is she now

from her home?

S32e S w03 S0t Sty AFS® 70 M SeoRHod), B SR RN BN 40 M Seopod. e ST, B33

533035 €80 70 M SCRN0B. B3 BYYE B Do K06 N0 ErSoS® sHOCH @ AFS® od?

Options:

1.4 40 m, North

40 m, eesdo

2. % 70 m, North

70 m, Gefo

3. % 110 m, South



110 m, &Seso

4. % 40 m, South

40 m, &Ses0

Question Number : 67 Question Id : 630680148385 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

‘A & B’ means ‘A is the wife of B’

‘A % B’ means ‘A is the father of B’
‘A @ B' means ‘A is the sister of B’
‘A # B’ means ‘A is the brother of B’

If'G&N%C@K#R’, then how is G related to R?

'A & B' eodre 'A @98 35§ B G o3y eod),
‘A % B’ et ‘A @95 35§ B B0y o @),
‘A @ B oot ‘A @0 $5§ B 3B, R°S0” e,

‘A# B o ‘A e $58 B Gl RSN e @Qo.

'‘G&N % C @ K # R @ondS, RS G Qsd)ehod?

Options :

1. ¥ Paternal grandmother

&Préésé

2. % Mother

=5

3. # Paternal aunt



Socses

4, # Daughter

5579

Question Number : 68 Question Id : 630680148386 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Pointing to a photograph of Piyush, a lady Ranjana said, “He is my son’s mother’s husband”. How is

Ranjana related to Piyush?

OHTR T SR, B0z, "WSBLD T HITHA SE) Bk, &Y @ BRYNA. HAHTRS Gozd ) oR?

Options :

1. # Sister

R%e50

2. ¥ Wife

C3

3. # Mother

=5

4. % Daughter

%573

Question Number : 69 Question Id : 630680148387 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the option that is related to the fifth letter-cluster in the same way as the second letter-



cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster.

BNT : GSY :: LUR: QZW :: EAP:?

Boéad @58 Ka3arsro R03E3 @B Ns3arrsstald KNo20080wr 530 sHBON PRI @EE KNedaTrsro 3P sy

0350505588 502508028 &3S0 0658 @EY DearesP8 K020t CINNCUN) oSG,

BNT : GSY :: LUR: QZW :: EAP :?
Options :

1. % KFU

KFU

2. % |GV

JGV

3. v JFU

JFU

4. % JHU

JHU

Question Number : 70 Question Id : 630680148388 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the option that is related to the third word in the same way as the second word is related to

the first word.

Rudeness : Courtesy :: Huge : ?



B0 D50 NEE DTS K020B00S DT 8333°¢S HTPE KHo220E0NS CIMNCINN VoS,

@e30T°geS © oTeses 1t gl 1 ?
Options :

1. % Large

SN

3. * Empty

EE)

4. % Long

e

Question Number : 71 Question Id : 630680148389 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Four word-pairs have been given, out of which three are alike in some manner and one is

different. Select the one that is different.

BQYS APeh D& BB’ 5557 A 28 OBS® 2.5er Gl 28e3 Srgo DS o €0enoB. DY G ITAN
Do G,

Options :

1. % Bahamas : North America

SFSTR: GBY ewNos°

2. ®* Iran: Asia



QTR BSOS

3. ¥ Japan : Europe

SEV ST et

4. % Brazil : South America

Brd: $8es ©Rds

Question Number : 72 Question Id : 630680148390 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Four letter-cluster pairs have been given, out of which three are alike in some manner and one is

different. Select the one that is different.

BYS TP @FY NDSPEFOS® 53 D& 2.8 OBS® 2:3er Gok 25e3 Srgo D)o Gotod. Yo
GRYTTAN o8 0k

Options :

1. % SPY:TRB

SPY : TRB

2. ¥ TOY : URB

TOY : URB

3. % PUN: QWQ

PUN : QWQ

4. * ZEN : AGQ

ZEN : AGQ

Question Number : 73 Question Id : 630680148391 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the figure from among the given options that can replace the question mark (?) in the following series.

>
¢

8o 335D ) 0 (?) 40 Sodorio DEFD) @D DD @0l JocEoC.

¢ (2|8,
@« | ¢ [

Options :

o] o

2. %

3. %



=

iz

Question Number : 74 Question Id : 630680148392 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the figure from among the given options that can replace the question mark (?) in the following series.

I

808 395D o7 g (?) 40 dorie Qe Ay DT Ao JocvEol.

I

Options :

¥



9 k] e T4




Question Number : 75 Question Id : 630680148393 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the correct mirror image of the given combination when the mirtor is placed at PQ' as shown.

P
54723‘
Q

SP0R DT 60y PA’ 5 &oui)t @D Soons auws), 25 g0 ( (5000 D80)9) JochEod.

P
54723‘
Q

Options :

e¥id3
1« 23A33

ESYVS
,«CSYVS

ESYhe
;v e SYhe

€clhe
xS CLlbha

Question Number : 76 Question Id : 630680148394 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1

Two different positions of the same dice are shown, the six faces of which are numbered from | to 6. Select the number

that will be on the face opposite o the one showing *3".

¢

VA o30g), o D gww PRI, DS esch meseet 1 dod 6 R0 Lm0, '3’ doa o
OIS T ol DS o R0 ool

U

Options :

1.% 2

3.%5

4. % 6

Question Number : 77 Question Id : 630680148395 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1



Select the number from among the given options that can replace the question mark (?) in the

following series.
21, 25,34,50,7, 111

B NSO Dok §od T3S JFgs () 258 DaHHI© Hoadged oS ol

21, 25,34,50,7, 111
Options :

1. % 65

65

2. %70

70

3.4 75

75

4. * 80

80

Question Number : 78 Question Id : 630680148396 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the number from among the given options that can replace the question mark (?) in the

following series.
7,23,71,215,7?

BQYS DANSO Dok §od T3S JFEs () 250 DaHI® Hoadgd oS ol



7,23,71,215,?
Options:

1. % 412

412

2. % 434

434

3. % 542

542

4. ¥ 647

647

Question Number : 79 Question Id : 630680148397 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Four number-triads have been given, out of which three are alike in some manner and one is

different. Select the one that is different.

B TPuih Kogrg Fared® i & 28 8BS® wSer ot 28 Srgo D)o Gotod. DS o
NN o8,
Options:

1. % 5:35:55

5:35:55

2. % 4:28:44

4:28:44

3.%6:42:66



6:42:66

4.7 :44:77

7:44:77

Question Number : 80 Question Id : 630680148398 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which two signs should be interchanged to make the following equation correct?

30+15-28+7x3=9

808 MNELETPR) HORADTS & Totkd Koo HERYYo Srom)D)y Goenod?

30+15-28+7x3=9
Options:

1. % +and x

+ 000 x

2. % xand -

X 080%™ —

3.4 +and -

+ 330050 —

4, % + gnd x

+ 3B X



